

Penthouse in Mellieha



Mellieha, North



€700,000

Reference No: 240461016-100

 Total Rooms: **5**

 Floor Area (m²) : **136**

 Bathrooms: **1**

 Bedrooms: **2**

Penthouse - For Sale - Mellieha

Mellieha – Penthouse - Situated in the northern area of Mellieha, this two-bedroom penthouse features a thoughtfully designed layout that integrates an open-plan kitchen, dining, and living area. It includes two bedrooms, a main bathroom, and a separate office or study space. The property offers a spacious terrace, ideal for creating cherished moments with loved ones. The penthouse will be sold in a finished condition, except for the doors and bathrooms. For further details, please reach out to your preferred agent.

Features

- ✓ Lift
- ✓ En Suite
- ✓ Water Utility
- ✓ PVC Piping
- ✓ Double Glazed
- ✓ Balcony
- ✓ Ceramic Floor
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ Skirting
- ✓ Terrace

Rooms

- ✓ Kitchen/Living/Dining : 5.91 x 3.77 m (22.28 m²)
- ✓ Double Bedroom : 4.91 x 3.57 m (17.19 m²)
- ✓ Double Bedroom : 4.12 x 2.99 m (12.32 m²)
- ✓ Office / Study : 2.93 x 2.94 m (8.61 m²)
- ✓ Hallway : 3 x 0.9 m (2.7 m²)
- ✓ Hallway : 6.04 x 1 m (6.04 m²)
- ✓ Bathroom : 3.21 x 1.47 m (4.72 m²)
- ✓ Open Space : 5.92 x 3.85 m (22.5 m²)
- ✓ Open Space : 5.92 x 2.29 m (13.56 m²)

Gallery





Kirsten Portelli

RE/MAX Professionals - Mosta

M: 77234545

E: kportelli@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta